BIOCHEM/PHARMACOL MCQ

1.
Nitric oxide is least likely to be stimulated by:

a.
haemoglobin

b. acetyl choline

c. increased blood flow

2.
58 yr old collapses in garden, has spent last 3 days gardening.   O/E salivating, pinpoint pupils, Heart rate 66, BP 110/70, warm moist, chest crackles and wheeze, no fasciculations, what would you give next? 

a.
adrenaline

b. atropine

c. physostigmine


d. 
( blocker

e.
 naloxone
Alt Q2
An elderly male gardener presents with 4 days of increasing diarrhoea, now has decreasing level of consciousness and increased salivation and sweating. BP 120/60, PR 66 /min. Most likely drug to be of benefit:

a. Phenoxybenzamine

b. Propranolol

c. Atropine

d. Ceftriaxone
3.
Male found in street, elderly, skin excoriated, faecal smearing, disheveled and confused.   Most likely vitamin deficiency?

a. niacin


b. folate
  

c. vitamin C

d. vitamin B12

e. thiamine

4.
10% of the Australian population are poor metabolisers of drugs because of cytochrome P450-2D6.   An individual with this genetic polymorphism would most likely result in which of the following side effects:

a. Hepatotoxicity with a lower dose of paracetamol

b. Inadequate analgesia with codeine

c. Prolonged anaesthesia because of impaired metabolism of succinyl choline.

d. Bleeding with warfarin

e. Severe heart failure with Beta Blockers

f. Hypertension with cyclosporin

g. Increased chance of procainamide induced SLE

5.
A drug undergoes 80% renal metabolism; the remaining 20% are hepatic. The usual dose is 100 mg. A patient who has a creatinine clearance of 25% of normal would need which dose:

a. 20 mg

b. 25 mg

c. 30 mg

d. 35 mg

e. 40 mg

6.
Following the oral administration of a drug, 1% is excreted unchanged in the faeces, the serum concentration is 10% of the dose early after administration, and the unchanged renal excretion fraction is found to be 5%. The best description of the pharmacokinetics of this drug is:

a. poor oral absorption, high protein binding

b. good oral absorption, high first pass metabolism, with renal excretion of metabolites

c. good oral absorption, low first-pass metabolism with high tissue distribution

d. poor oral absorption, high first-pass metabolism, with renal excretion

7.
The mechanism of the cough on ACE inhibitors is:

a. Bradykinins

b. Leukotrienes

c. Histamine

d. Increased renin

8.
An epileptic patient is on 300 mg daily of phenytoin, with a level of 21.   They have been experiencing some side effects (?ataxia), and you wish to reduce their level to 14.   The appropriate new dose will be:

a. 200 mg

b. l00 mg

c. 260 mg

d. l50 mg

e. 50 mg

9.
Which of the following is most likely to increase lithium levels?

a. Probenecid

b. Bendrofluazide

c. ?antibiotic

d. Enalapril

e. ? A non-steroida1

10.
Haloperidol is most likely to have an effect on which of the following behaviours:

a. wandering

b. calling out

c. paranoid delusions

d. apathy

e. insomnia

11.
Which of the following is least likely to interfere with metabolism of cyclosporine?

a. Nifedipine

b. Trimethoprim

c. Fluconazole

d. Verapamil

e. Cimetidine

12.
Hypertriglyceridaemia is most likely to cause?

a. Xanthelasma

b. Tendon xanthomata

c. Abdominal pain

13.
A new chemotherapeutic drug is undergoing phase II trials. Which of the following is least likely to influence the apparent response rate?

a. Size of metastases

b. Site of metastases

c. Gender of patient

d. Performance status

14.
Which of the following agents is most likely to decrease VLDL and LDL, and increase HDL?

a. Diet

b. Gemfibrozil

c. Lovastatin

d. Cholestyramine

e. Oestrogen

15.
Therapeutic drug monitoring (TDM) is desirable for:

a. Lithium because it has a wide therapeutic range

b. Amitriptyline because there is a well defined concentration-effect relationship

c. Digoxin because there is a reasonable concentration-effect relationship

d. Theophylline because TDM is the most reliable indicator of efficacy

e. Ciprofloxacin because the plasma concentrations are predictive of drug interactions with warfarin

16.
Which of the following substances would act to increase tubular sodium reabsorption and thus decrease sodium excretion?

a. An angiotensin II antagonist

b. Noradrenalin

c. Prostaglandin E2 

d. Amiloride

e. Atrial natriuretic peptide

17.
Features of slow release formulations:

a.
increased maximal drug level in the blood 

b.
delay the time of maximum drug concentration 

c.
allow increased dosing interval 

d.
allow higher concentration of drug 

18.
Nitric oxide

a.
causes platelet aggregation 

b.
causes effects by increasing cGMP 

c.
has higher affinity for oxygen than haemoglobin 

d.
causes smooth muscle proliferation 

e.
causes vasoconstriction 

19.
NSAIDs

a.
prevent closure of PDA 

b.
decrease LOS tone

c.
decrease gastric mucous 

d.
decrease renin

e.
stimulate uterine contraction 

20.
Effects of caffeine include:

a. lowered seizure threshold   (?raised)

b. increased arrhythmia 

c. increased malignancy

d. increased diastolic BP

e. induces P450

f. lowered LOS tone 

21.
Elderly female with treatment for hypertension, arthritis and angina experiences postural symptoms.   Which of the following drugs is the most likely cause?

a.
( blockers

b.
GTN patch

c.
NSAIDs

d.
enalapril

e.
diuretics 

22.
In which of the following instances is the drug correctly linked to the receptor type at which it is active?

a. Ondansetron

type 3 serotonin receptor

b. Prazosin


presynaptic (2 receptor

c. Clonidine 

post synaptic (4 receptor

d. Metoprolol 

(2 receptor

e. Apomorphine 

dopamine receptor

23.
In which of the following cases will administration of the first drug predictably raise plasrna levels of the second?

a. Diltiazem

Cyclosporine 

b. Carbarazepine

Phenytoin 

c. Cimetidine

Warfarin 

d. Allopurinol

Azathioprine 

e. Erythromycin

Theophylline 

24.
Concerning volume of distribution

a.
it is inversely proportional to drug clearance 

b.
it is increased by displacement from plasma protein binding 

c.
it is inversely proportional to excretion T1/2 

d.
it is most accurately measured after intravenous dose 

25.
Messenger systems for G protein:

a. inhibitor of adenylate cyclase 

b. inhibitor of intracellular Ca release 


c. associated with Ca/calmodulin complex 

d. phospholipase C 

e. protein kinase A 

26.
Captopril:

a. causes cough 

b. is completely renally excreted 

c. causes hypokalaernia 

d. is associated with angioneurotic oedema 

e. causes hyperglycaemia in non-diabetics 

27.
Oxidative drug metabolism produces:

a. Active metabolites

b. Inactive metabolites

c. Toxic metabolites

d. Reactive metabolites

e. More lipid-soluble products

28.
Calcitonin:

a. usually given with calcium infusion

b. decreases bone resorption

c. hypersecretion tested by pentagastrin stimulation test

d. is produced by Hurthle cells

29.
Which of the following increase iron absorption?

a. Vitamin C

b. Tea

c. Ineffective erythropoiesis

d. High  animal protein diet

30.
Exercise test and increase V02 linearly until inflection (??VE) caused by:

a. CO2
b. Lactic acidosis

c. Golgi apparatus in diaphragm

d. Reflex from calf muscle

31.
Regarding diuretics:

a. Frusemide increases chloride transport

b. Thiazides increase K+ excretion directly

c. Acetazolamide promotes HCO3 excretion

d. Spironolactone is useful for metabolic acidosis

e. Amiloride promotes Mg2+ wasting

32.
Which human cells replicate in vitro?

a. Fibroblasts

b. Cardiac myocytes

c. Hepatocytes

d. Endothelial cells

e. Neurones

33.
Urinary uric acid excretion is decreased by:

a. Alcohol

b. Cyclosporin A

c. Hypothyroidism

d. Lead

e. Sulfinpyrazone

34.
Older man, previous angina and CVA in right middle cerebral territory.   He has AF and is on Warfarin, usually well controlled with INR 2.0.   Presents with melaena, and INR found to be 8.0.   The likely drug which could have caused this is:

a. Phenytoin

b. Enalapril

c. Paracetamol 

d. Erythromycin

e. Verapamil

35.
Your epileptic patient wants to have a family.   She gives a history of tonic clonic epilepsy in her childhood and is on anticonvulsant drugs.   She has not had seizures for three years.   Which of the following statements is INCORRECT?

a. Withdrawal of drugs should be considered

b. Diet prior to and following conception should contain daily folic acid supplementation

c. Over 5% of foetuses exposed in-utero to valproate are likely to develop neural tube like defects

d. Over 20 percent of women with epilepsy experience an increase in the frequency of seizures during pregnancy.

e. There is an slight increase in preeclampsia in women with epilepsy who take anticonvulsant medication

36.
Folinic acid (leucovorin) is used as a rescue agent following chemotherapy with high dose methotrexate.  Its mechanism of action is best described as:

a. Replenishing the levels of tetrahydrofolate (reduced folate)

b. Inhibiting the enzyme dihydrofolate reductase

c. Phosphorylation of thymidine

d. Promotes metabolism arid excretion of residual methotrexate


e. Prevents methotrexate from entering normal cells.

37.
The oxidative-modification hypothesis of atherosclerosis proposes that atherogenesis is initiated by oxidation of the lipids in low-density lipoprotein (LDL), supported by the epidemiological evidence of an inverse relation between increased intake of antioxidant vitamins such as vitamin E arid vitamin C and morbidity and mortality from coronary artery disease.   All of the following statements about antioxidants are correct EXCEPT?

a. Cellular antioxidants inhibit monocytes and macrophage adhesion

b. Cellular antioxidants protect against the cytotoxic effects of oxidised LDL.

c. Cellular antioxidants inhibit platelet activation.

d. Cellular antioxidants protect against tile endothelial dysfunction associated with atherosclerosis by preserving endothelium-derived nitric oxide activity.

e. Cellular antioxidants inhibit platelet activation and smooth-muscle proliferation

38.
Bleomycin is an antibiotic-related chemotherapy that binds to DNA  It is frequently used in combination (ABVD) for the treatment of Hodgkin's lymphoma.   The least likely side effect of bleomycin is:

a. Bronchospasm

b. Rash

c. Fever

d. Marrow suppression

e. Radiation recall

39.
Numerous studies have demonstrated a correlation between protein-energy status and the outcome of hospitalisation.   The best predictor or protein-energy malnutrition in hospitalised patients is:

a. Serum albumin

b. BMI

c. Triceps skin fold thickness

d. Forearm muscle circumference

e. Blood urea to creatinine ratio

